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1. ERATAHY F R E hREG TR .
(A) 5 i3 iE ¥ ~(ALU) (B)ir#4]1H ~(CU) (C)ﬁ?] » /ﬁg?l 41 (input/output)
(D)ze 1 42 (memory)

2. TofEce R 6T e L BT CPU
APt B EE (OLhil DH®

3. L1#&£ L2385 2 (True) » 3K T 7|vRip BIEF 5 S % 5 29
(AYNOTL!1 (B)LIANDL2 (C)L1XORL2 (D)NOTL2

4. T3 32GB(gigabytes)si tefg 8 F ke (word) < -] 5 16 & =~ ke (bytes) 3k &
Th AR T-FERNEREELAE S A ERY
(A)32 (B)33 (C)30 (D)31

5. R 4 F & SEHP(fetch) » f275 (decode) £ 4 {7 (execute) & 3 B Iy £ ¥ B
FBRFEZE ] BE TR o i * ¢ A(pipeline)s CPU &3 ¥ Jg Fl4 £
i ) (penalty) ™ 15 B B = pF BT 3550 59 34 17 ehdp 4 #c?
(A)15 (B)5 (C)14 (D)45

6. SQLFZ # vi— i A% RJEGUR R ¢ Poif okl endg £ 7
(A)GET (B)INSERT (C)SELECT (D) CREATE

7. RS FR & 256 i (bits)? f#47 & (resolution) 5 300 * 200 =12k *L [l (bitmap) 7
£ %0 = e (bytes) k32
(A)1,920,000 (B)7,500 (C)60,000 (D)30,000

8. T 7423 ¢ push(n) & H-F AL n 2 r 3 f(stack) s pop() RS P Bl - X TR o -
RBToAes T ats o afpr? gl s @2
push(3), push(2), push(4), push(pop() + pop()), pop()
(A3 (B)S (O (D)4

9. T A2 P add(n)E_K-F AL n 2~ 7 7](queue) ; remove() EjE TS P Bl - X
R TARARGERE TP FROTHR G R
add(3), add(2), add(4), add(remove() + remove()), remove()
(A3 (B)S (O (D)4

10, T 7lie % B AR5 AL B TR §AE (R B A L i )2
(A) = B |+ (integrity) (B) ¥ |+ (availability) (C) # % {%(confidentiality)
(D) # ¥ % %4 (non-repudiation)
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a=0;
for(i=1;1<=n;i++)
for(k=n;k>=1;k--)

a=0;

a=atl;

for(i=1;1<=n;i++)

a=0;
for(i=1;1<=n;1=1*2)
for(k=1;k<=n;k++)

a=atl;
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a=a+l;
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